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QUESTION 1

A client deployed a new collaboration solution six months ago. Utilization telemetry indicates only 60% of activated
users are engaging with the solution. Which two actions should the Customer Success Manager recommend to the
client? (Choose two.)

A. Have marketing write a blog post about the new solution.

B. Encourage the customer to purchase updated endpoints.

C. Block all alternative chat and video collaboration systems.

D. Conduct a survey to determine which collaboration solutions users are using.

E. Advertise additional user training sessions throughout the organization.

Correct Answer: DE

QUESTION 2

The customer plans to relocate to a new building in the existing area to reduce cost. The company wants to retain talent
through this transition. Which two business outcomes are critical to the company\\'s success? (Choose two.)

A. risk management

B. employee satisfaction
C. cost efficiency

D. credibility

E. sustainability

Correct Answer: BC

QUESTION 3
Which outcome is the best that a Customer Success Manager can achieve for a customer?

A. adoption of all the licenses and features the customer purchased leading to expansion to improve the customer\\'s
business

B. full adoption of all the technologies the customer purchased
C. removing barriers so the customer achieves the fastest time to value possible from the solution they purchased
D. ensuring the customers deployment teams and end users are trained and ready to adopt the technology

Correct Answer: C
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QUESTION 4

Which expense is an operating expense (OPEX)?
A. payroll

B. computer equipment

C. software

D. office improvements

Correct Answer: A

QUESTION 5

The Customer Success Manager notices that their customer has delayed going into production. Which action does the
Customer Success Manager consider?

A. Suggest that the customer replace their existing staff

B. Provide the customer with a chargeable deployment service
C. Re-enforce the time to value of the solution

D. Give the customer a discount on a future purchase

Correct Answer: C
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